

# Certain Criteria for Univalence of an Integral Operator involving Convolutions

Poonam Sharma and Aditya K. Bajpai

*Department of Mathematics & Astronomy  
University of Lucknow, Lucknow 226007 India*

*sharma\_poonam@lkouniv.ac.in; adityabajpai14@gmail.com*

## Abstract

In this paper, an integral operator involving convolutions is investigated for its univalence in the open unit disk. For this, certain conditions on the convolutions are considered. Our results, in particular, provide the univalence of a new integral operator involving several linear operators. Several previously obtained results also follow from our results.

**Subject class [2010]:** Primary 30C45, 30C50

**Keywords:** Analytic functions, Univalent Functions, Convolution, Integral operator

## 1 Introduction

Let  $\mathcal{A}$  denotes a class of functions analytic in the open unit disk  $\mathbb{U} = \{z : |z| < 1\}$ , normalized by the conditions  $f(0) = 0 = f'(0) - 1$ . A subclass of univalent functions in  $\mathcal{A}$  is denoted by  $\mathcal{S}$ .

A convolution (Hadamard product)  $*$  of  $f \in \mathcal{A}$  of the form

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$

and  $g \in \mathcal{A}$  of the form

$$(1.2) \quad g(z) = z + \sum_{n=2}^{\infty} b_n z^n,$$

is defined by

$$(1.3) \quad f(z) * g(z) = (f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n = g(z) * f(z).$$

Note that the convolution  $'*$ ' preserves the class  $\mathcal{A}$ .

We have following results:

**Lemma 1.1.** [16] Let  $f \in \mathcal{A}$ . If for all  $z \in \mathbb{U}$ ,

$$(1.4) \quad \left| \frac{z^2 f'(z)}{(f(z))^2} - 1 \right| < 1,$$

then  $f$  is univalent in  $\mathbb{U}$ .

**Lemma 1.2.** [19, Corollary 2.3., p.3] Let  $f \in \mathcal{A}$ . If for  $m > 0$

$$(1.5) \quad \left| \frac{z^2 f'(z)}{f^2(z)} - 1 - \frac{m-1}{2} |z|^{m+1} \right| < \frac{m+1}{2} |z|^{m+1},$$

for all  $z \in \mathbb{U}$ . Then the function  $f$  is analytic and univalent in  $\mathbb{U}$ .

Let  $\mathcal{B}(m)$  be the class of functions  $f \in \mathcal{A}$  satisfying condition (1.5). Clearly,  $\mathcal{B}(1) =: \mathcal{B}$  becomes the class of functions satisfying condition (1.4).

Silverman [22] introduced a subclass  $G_b$  of the class  $\mathcal{A}$  for  $0 < b \leq 1$ , by

$$(1.6) \quad G_b = \left\{ f \in \mathcal{A} : \left| 1 + \frac{z f''(z)}{f'(z)} - \frac{z f'(z)}{f(z)} \right| < b \left| \frac{z f'(z)}{f(z)} \right| \quad (z \in \mathbb{U}) \right\}.$$

In this paper, we consider for  $\mu \in \mathbb{C} \setminus \{0\}$  and for  $i = 1, \dots, n, \alpha_i, \gamma_i \in \mathbb{C}, f_i, g_i, h_i \in \mathcal{A}$ , an integral  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  ( $z \in \mathbb{U}$ ) which is as follows:

$$(1.7) \quad I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z) = \left[ \mu \int_0^z t^{\mu-1} \prod_{i=1}^n \left( \frac{(f_i * g_i)(t)}{t} \right)^{\alpha_i} ((f_i * h_i)'(t))^{\gamma_i} dt \right]^{\frac{1}{\mu}},$$

where powers taken have their principal values.

Several linear operators are defined and studied so far in the *Geometric Function Theory* (see [23] for detail). It can easily be seen that these linear operators can be written as the convolutions (see for example [24, 25]). Here, for instance, let  $f_i * g_i = \mathcal{I}_{g_i}(f_i)$  and  $f_i * h_i = \mathcal{J}_{h_i}(f_i)$  for each  $i = 1, \dots, n$ , the integral  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  defined above by (1.7) actually involve  $2n$  linear operators, and it reduces to several integral operators studied earlier (see [8, 14]). Clearly, for  $\gamma_i = 0$  ( $i = 1, \dots, n$ ) and for various values of  $\mu$ , the integral  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  reduces to the integrals studied in [1, 5, 7, 9, 11, 12, 20, 21, 26, 27] which include other integrals cited in these work.

We obtain univalence conditions of the integral operator  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  by using following results:

**Lemma 1.3.** [13] Let the function  $f$  be regular in the disk  $\mathbb{U}_R = \{z \in \mathbb{C} : |z| < R\}$ , with  $|f(z)| < M$ ,  $M$  fixed. If  $f$  has a zero with multiplicity greater than  $m$  at  $z = 0$ , then

$$|f(z)| \leq \frac{M}{R^m} |z|^m \quad (z \in \mathbb{U}_R).$$

the equality can hold only if

$$f(z) = e^{i\theta} \frac{M}{R^m} z^m,$$

where  $\theta$  is constant.

**Lemma 1.4.** [17] Let  $f \in \mathcal{A}$  and  $\mu \in \mathbb{C}$ . If  $\Re\mu > 0$  and

$$\frac{1 - |z|^{2\Re\mu}}{\Re\mu} \left| \frac{zf''(z)}{f'(z)} \right| \leq 1,$$

for all  $z \in \mathbb{U}$ , then the integral operator

$$F_\mu(z) = \left[ \mu \int_0^z t^{\mu-1} f'(t) dt \right]^{\frac{1}{\mu}},$$

is regular and univalent in  $\mathbb{U}$ .

**Lemma 1.5.** [27] Let  $\mu \in \mathbb{C}$  with  $\Re\mu > 0$ ,  $c \in \mathbb{C}$  with  $|c| \leq 1$ ,  $c \neq -1$ . If  $f \in \mathcal{A}$  satisfies

$$\left| c|z|^{2\mu} + (1 - |z|^{2\mu}) \frac{zf''(z)}{\mu f'(z)} \right| \leq 1 \quad (z \in \mathbb{U}),$$

then the integral operator

$$F_\mu(z) = \left[ \mu \int_0^z t^{\mu-1} f'(t) dt \right]^{\frac{1}{\mu}}$$

is regular and univalent in  $\mathbb{U}$ .

## 2 Main results

**Theorem 2.1.** Let for each  $i = 1, \dots, n$ ,  $f_i, g_i, h_i \in \mathcal{A}$  be such that for  $m_i > 0$ ,  $f_i * g_i \in \mathcal{B}(m_i)$  and  $f_i * h_i \in \mathcal{B}(m_i)$  alongwith

$$(2.1) \quad f_i * h_i \in G_{b_i} \quad (0 < b_i \leq 1)$$

and

$$(2.2) \quad |(f_i * g_i)(z)| \leq M_i, \quad |(f_i * h_i)(z)| \leq N_i \quad (M_i \geq 1, N_i \geq 1; z \in \mathbb{U}).$$

If for some  $\alpha_i, \gamma_i \in \mathbb{C}$  ( $i = 1, \dots, n$ ) and for  $\mu \in \mathbb{C}$  ( $\Re\mu > 0$ ),

$$(2.3) \quad \Re\mu \geq \sum_{i=1}^n [|\alpha_i| \{(m_i + 1) M_i + 1\} + |\gamma_i| (b_i + 1) \{(m_i + 1) N_i + 1\} + b_i |\gamma_i|],$$

then the integral operator  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  defined by (1.7) is univalent.

*Proof.* Let

$$(2.4) \quad G(z) = \int_0^z \prod_{i=1}^n \left( \frac{(f_i * g_i)(t)}{t} \right)^{\alpha_i} ((f_i * h_i)'(t))^{\gamma_i} dt.$$

Then  $G \in \mathcal{A}$  and on differentiating (2.4), we get

$$(2.5) \quad G'(z) = \prod_{i=1}^n \left( \frac{(f_i * g_i)(z)}{z} \right)^{\alpha_i} ((f_i * h_i)'(z))^{\gamma_i}.$$

On differentiating logarithmically (2.5), we obtain

$$\frac{zG''(z)}{G'(z)} = \sum_{i=1}^n \left[ \alpha_i \left( \frac{z(f_i * g_i)'(z)}{(f_i * g_i)(z)} - 1 \right) + \gamma_i \left( \frac{z(f_i * h_i)''(z)}{(f_i * h_i)'(z)} \right) \right].$$

Hence,

$$\begin{aligned} & \left| \frac{zG''(z)}{G'(z)} \right| \\ & \leq \sum_{i=1}^n \left[ |\alpha_i| \left| \frac{z(f_i * g_i)'(z)}{(f_i * g_i)(z)} - 1 \right| + |\gamma_i| \left| \frac{z(f_i * h_i)''(z)}{(f_i * h_i)'(z)} - \frac{z(f_i * h_i)'(z)}{(f_i * h_i)(z)} + 1 \right| \right. \\ & \quad \left. + |\gamma_i| \left| \frac{z(f_i * h_i)'(z)}{(f_i * h_i)(z)} - 1 \right| \right], \end{aligned}$$

which on using the hypothesis (2.1) from (1.6), yields

$$\begin{aligned} & \left| \frac{zG''(z)}{G'(z)} \right| \\ & \leq \sum_{i=1}^n \left[ |\alpha_i| \left| \left( \frac{z(f_i * g_i)'(z)}{(f_i * g_i)(z)} - 1 \right) \right| + |\gamma_i| (b_i + 1) \left| \left( \frac{z(f_i * h_i)'(z)}{(f_i * h_i)(z)} - 1 \right) \right| + b_i |\gamma_i| \right] \\ (2.6) \quad & \leq \sum_{i=1}^n \left[ |\alpha_i| \left( \left| \frac{z^2(f_i * g_i)'(z)}{[(f_i * g_i)(z)]^2} \right| \left| \frac{(f_i * g_i)(z)}{z} \right| + 1 \right) \right. \\ & \quad \left. + |\gamma_i| (b_i + 1) \left( \left| \frac{z^2(f_i * h_i)'(z)}{[(f_i * h_i)(z)]^2} \right| \left| \frac{(f_i * h_i)(z)}{z} \right| + 1 \right) + b_i |\gamma_i| \right]. \end{aligned}$$

Now, from (2.2), we have by the General Schwarz Lemma 1.3 for the multiplicity 1 of the zero at  $z = 0$  of the functions  $f_i * g_i$  and  $f_i * h_i$  :

$$|(f_i * g_i)(z)| \leq M_i |z| \quad \text{and} \quad |(f_i * h_i)(z)| \leq N_i |z| \quad (i = 1, \dots, n; z \in \mathbb{U})$$

Thus from (1.5) of Lemma 1.2, we find

$$\begin{aligned}
 & \left| \frac{zG''(z)}{G'(z)} \right| \\
 & \leq \sum_{i=1}^n \left[ |\alpha_i| \left| \frac{z^2 (f_i * g_i)'(z)}{[(f_i * g_i)(z)]^2} - 1 - \frac{m_i - 1}{2} |z|^{m_i+1} \right| M_i + \left( 1 + \frac{m_i - 1}{2} |z|^{m_i+1} \right) M_i \right. \\
 & \quad + 1 + |\gamma_i| (b_i + 1) \left\{ \left| \frac{z^2 (f_i * h_i)'(z)}{[(f_i * h_i)(z)]^2} - 1 - \frac{m_i - 1}{2} |z|^{m_i+1} \right| N_i \right. \\
 & \quad \left. \left. + \left( 1 + \frac{m_i - 1}{2} |z|^{m_i+1} \right) N_i + 1 \right\} + b_i |\gamma_i| \right] \\
 (2.7) \leq & \sum_{i=1}^n \left[ |\alpha_i| \left\{ \frac{m_i + 1}{2} |z|^{m_i+1} M_i + \left( 1 + \frac{m_i - 1}{2} |z|^{m_i+1} \right) M_i + 1 \right\} \right. \\
 & \left. + |\gamma_i| (b_i + 1) \left\{ \frac{m_i + 1}{2} |z|^{m_i+1} N_i + \left( 1 + \frac{m_i - 1}{2} |z|^{m_i+1} \right) N_i + 1 \right\} + b_i |\gamma_i| \right].
 \end{aligned}$$

Thus, for  $\mu \in \mathbb{C}$  ( $\Re\mu > 0$ ),

$$\begin{aligned}
 & \frac{1 - |z|^{2\Re\mu}}{\Re\mu} \left| \frac{zG''(z)}{G'(z)} \right| \\
 (2.8) \leq & \frac{1}{\Re\mu} \sum_{i=1}^n [|\alpha_i| \{(m_i + 1) M_i + 1\} + |\gamma_i| (b_i + 1) \{(m_i + 1) N_i + 1\} \\
 & + b_i |\gamma_i|],
 \end{aligned}$$

which by (2.3) proves

$$\frac{1 - |z|^{2\Re\mu}}{\Re\mu} \left| \frac{zG''(z)}{G'(z)} \right| \leq 1 \quad (z \in \mathbb{U}).$$

On applying Lemma 1.4 for the function  $G(z)$ , we obtain that the integral operator  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  defined by (1.7) is univalent. This proves Theorem 2.1.  $\square$

Taking  $\alpha_i = 1 - \frac{1}{\beta_i}, \gamma_i = \frac{1}{\beta_i}$ , and  $f_1 = \dots = f_n = \frac{z}{1-z}$  ( $z \in \mathbb{U}$ ) in Theorem 2.1, we get following result:

**Corollary 2.1.** *Let for each  $i = 1, \dots, n, g_i, h_i \in \mathcal{A}$  be such that for  $m_i > 0, g_i, h_i \in \mathcal{B}(m_i)$  alongwith*

$$h_i \in G_{b_i} \quad (0 < b_i \leq 1)$$

and

$$|g_i(z)| \leq M_i, \quad |h_i(z)| \leq N_i \quad (M_i \geq 1, N_i \geq 1; z \in \mathbb{U}).$$

If for some  $\beta_i \in \mathbb{C}$  ( $\beta_i \neq 0, i = 1, \dots, n$ ) and for  $\mu \in \mathbb{C}$  ( $\Re\mu > 0$ ),

$$\Re\mu \geq \sum_{i=1}^n \frac{1}{|\beta_i|} [|\beta_i - 1| \{(m_i + 1) M_i + 1\} + (b_i + 1) \{(m_i + 1) N_i + 1\} + b_i],$$

then the integral operator

$$(2.9) \quad I_n^{\beta_i}(g_i, h_i; \mu)(z) = \left[ \mu \int_0^z t^{\mu-1} \prod_{i=1}^n \left( \frac{g_i(t)}{t} \right)^{1-\frac{1}{\beta_i}} (h_i'(t))^{\frac{1}{\beta_i}} dt \right]^{\frac{1}{\mu}},$$

is univalent.

**Remark 2.1.** If we take  $m_i = 1$  in Corollary 2.1, we get a similar result obtained by Oprea and Breaz [14, Theorem 5, p.217].

Taking  $\alpha_i = 1 - \beta_i, \gamma_i = \beta_i$ , and  $g_1 = \dots = g_n = \frac{z}{1-z}, h_1 = \dots = h_n = \frac{z}{1-z}$  ( $z \in \mathbb{U}$ ) in Theorem 2.1, we get following result:

**Corollary 2.2.** Let for each  $i = 1, \dots, n, f_i \in \mathcal{A}$  be such that for  $m_i > 0, f_i \in \mathcal{B}(m_i)$  alongwith

$$f_i \in G_{b_i} \quad (0 < b_i \leq 1)$$

and

$$|f_i(z)| \leq M_i \quad (M_i \geq 1; z \in \mathbb{U}).$$

If for some  $\beta_i \in \mathbb{C}$  ( $i = 1, \dots, n$ ) and for  $\mu \in \mathbb{C}$  ( $\Re \mu > 0$ ),

$$\Re \mu \geq \sum_{i=1}^n [|\beta_i - 1| \{(m_i + 1) M_i + 1\} + |\beta_i| (b_i + 1) \{(m_i + 1) N_i + 1\} + b_i |\beta_i|],$$

then the integral operator

$$(2.10) \quad I_n^{\beta_i}(f_i; \mu)(z) = \left[ \mu \int_0^z t^{\mu-1} \prod_{i=1}^n \left( \frac{f_i(t)}{t} \right)^{1-\beta_i} (f_i'(t))^{\beta_i} dt \right]^{\frac{1}{\mu}},$$

is univalent.

**Remark 2.2.** The Corollary 2.2 coincides with the result [8, Theorem 2, p.119] if for each  $i = 1, \dots, n, f_i \in \mathcal{B}$ .

**Remark 2.3.** Taking  $\gamma_i = 0$  in Theorem 2.1, several results obtained earlier follow for special values of parameters  $m_i, M_i, \alpha_i, \mu$  and for special forms of convolution  $f_i * g_i$ , for example see [2, Theorem 1, p.138], [5, Theorem 2.3, p.43], [6, Theorem 1, p.89], [9, Theorem 3.6, p.133], also [15, 21].

We use Lemma 1.5 in our next result which is as follows:

**Theorem 2.2.** Let for each  $i = 1, \dots, n, f_i, g_i, h_i \in \mathcal{A}$  be such that for  $m_i > 0, f_i * g_i \in \mathcal{B}(m_i)$  and  $f_i * h_i \in \mathcal{B}(m_i)$  alongwith satisfy equation (2.1) and (2.2). If for some  $\alpha_i, \gamma_i \in \mathbb{C}$  ( $i = 1, \dots, n$ ) and for  $c, \mu \in \mathbb{C}$  ( $\Re \mu > 0, |c| \leq 1, c \neq -1$ ),

$$(2.11) \quad |c| \leq 1 - \frac{1}{\Re \mu} \sum_{i=1}^n [|\alpha_i| \{(m_i + 1) M_i + 1\} + |\gamma_i| (b_i + 1) \{(m_i + 1) N_i + 1\} + b_i |\gamma_i|],$$

then the integral operator  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  defined by (1.7) is univalent.

*Proof.* From (2.7), we get for  $c, \mu \in \mathbb{C}$  ( $\Re\mu > 0, |c| \leq 1, c \neq -1$ ),

$$(2.12) \quad \left| c|z|^{2\mu} + (1 - |z|^{2\mu}) \frac{zG''(z)}{\mu G'(z)} \right| \\ \leq |c| + \frac{1}{\Re\mu} [|\alpha_i| \{(m_i + 1) M_i + 1\} + |\gamma_i| (b_i + 1) \{(m_i + 1) N_i + 1\} \\ + b_i |\gamma_i|]$$

which by (2.11) proves

$$\left| c|z|^{2\mu} + (1 - |z|^{2\mu}) \frac{zG''(z)}{\mu G'(z)} \right| \leq 1 \quad (z \in \mathbb{U})$$

and hence on applying Lemma 1.5 for the function  $G(z)$ , it proves that the integral operator  $I_n^{\alpha_i, \gamma_i}(f_i, g_i, h_i; \mu)(z)$  defined by (1.7) is univalent.  $\square$

Taking  $\alpha_i = 1 - \frac{1}{\beta_i}, \gamma_i = \frac{1}{\beta_i}$ , and  $f_1 = \dots = f_n = \frac{z}{1-z}$ , in Theorem 2.2, we get following result:

**Corollary 2.3.** *Let for each  $i = 1, \dots, n, g_i, h_i \in \mathcal{A}$  be such that for  $m_i > 0, g_i, h_i \in \mathcal{B}(m_i)$  alongwith*

$$h_i \in G_{b_i} \quad (0 < b_i \leq 1)$$

and

$$|g_i(z)| \leq M_i, \quad |h_i(z)| \leq N_i \quad (M_i \geq 1, N_i \geq 1; z \in \mathbb{U}).$$

If for some  $\beta_i \in \mathbb{C}$  ( $\beta_i \neq 0, i = 1, \dots, n$ ) and for  $c, \mu \in \mathbb{C}$  ( $\Re\mu > 0, |c| \leq 1, c \neq -1$ ),

$$|c| \leq 1 - \frac{1}{\Re\mu} \sum_{i=1}^n \frac{1}{|\beta_i|} [|\beta_i - 1| \{(m_i + 1) N_i + 1\} + (b_i + 1) \{(m_i + 1) N_i + 1\} + b_i],$$

then the integral operator  $I_n^{\beta_i}(g_i, h_i; \mu)(z)$  defined by (2.9) is univalent in  $\mathbb{U}$ .

**Remark 2.4.** The Corollary 2.3 for  $m_i = 1$ , coincides with the result of Oprea and Breaz [14, Theorem 7, p.221].

Taking  $\alpha_i = 1 - \beta_i, \gamma_i = \beta_i$  and  $g_1 = \dots = g_n = \frac{z}{1-z}, h_1 = \dots = h_n = \frac{z}{1-z}$  ( $z \in \mathbb{U}$ ) in Theorem 2.2, we get following result:

**Corollary 2.4.** *Let for each  $i = 1, \dots, n, f_i \in \mathcal{A}$  be such that for  $m_i > 0, f_i \in \mathcal{B}(m_i)$  alongwith*

$$h_i \in G_{b_i} \quad (0 < b_i \leq 1),$$

and

$$|f_i(z)| \leq M_i \quad (M_i \geq 1; z \in \mathbb{U}).$$

If for some  $\beta_i \in \mathbb{C}$  ( $i = 1, \dots, n$ ) and for  $c, \mu \in \mathbb{C}$  ( $\Re\mu > 0, |c| \leq 1$ , and  $c \neq -1$ ),

$$|c| \leq 1 - \frac{1}{\Re\mu} \sum_{i=1}^n [(|\beta_i| b_i + 1) \{(m_i + 1) M_i + 1\} + |\beta_i| b_i],$$

then the integral operator

$$I_n^{\beta_i}(f_i; \mu)(z) = \left[ \mu \int_0^z t^{\mu-1} \prod_{i=1}^n \left( \frac{f_i(t)}{t} \right)^{1-\beta_i} (f_i'(t))^{\beta_i} dt \right]^{\frac{1}{\mu}},$$

is univalent.

**Remark 2.5.** For  $m_i = 1$ , the Corollary 2.4 coincides with the result of Frasin [8, Theorem 4, p.122].

**Remark 2.6.** Taking  $\gamma_i = 0$  in Theorem 2.2, we may get several results proved earlier for special values of the parameters  $m_i, M_i, \alpha_i, \mu$  and for special forms of convolution  $f_i * g_i$  ([4, Theorem 4, p.43], [5, Theorem 2.9, p.47], [10, Theorem 1, p.1143], [18, Theorem 3, p.2137], also [3, 28]).

## References

- [1] D. Breaz, and N. Breaz, Univalence of an integral operator, *Mathematica (Cluj)*, **47**(70), (2005), 35–38.
- [2] D. Breaz, and N. Breaz, An integral univalent operator, *Acta Math. Univ. Comenianae*, **76**(2), (2007), 137–142.
- [3] D. Breaz and N. Breaz, Sufficient univalent conditions for an integral operator, *Proc. Int. Symp.: On new development of geometric functions theory and its applications GFTA*, (2008), 60–63.
- [4] D. Breaz, N. Breaz and H. M. Srivastava, An extension of the univalent condition for a family of integral operators, *Appl. Math., Lett.*, **22**(1), (2009), 41–44.
- [5] S. Bulut, Univalence preserving integral operator defined by generalized Al-Oboudi differential operator, *Analele Stiintifice ale Univ. Ovidius Constanta*, **17** (2009), 37–50.
- [6] S. Bulut, A new univalent integral operator defined by Al-Oboudi differential operator, *Gen. Math.*, **2** (2010), 85–93.
- [7] Erhan Deniz, Univalence criteria for a general integral operator, *Filomat*, **28**(1), (2014), 11–19.
- [8] B.A. Frasin, Univalence criteria for general integral operator, *Math. Commun.*, **16** (2011), 115–124.



- 
- [9] B.A. Frasin, General integral operator defined by Hadamard product, *Matematicki Vesnik*, **62**(2), (2010), 127–136.
- [10] B.A. Frasin, Certain Sufficient Conditions for univalence of two Integral Operators, *Eur. J. Pure Appl. Math*, **3**(6), (2010), 1141–1149.
- [11] B.A. Frasin, Sufficient Conditions for univalence of Integral operator defined by Hadamard product, *Acta Univ. Apu.*, **29** (2012), 85–97.
- [12] B.A. Frasin and M.K. Aouf, Univalence conditions for a new general integral operator, *Hacet. J. Math. Stat.*, **39**(4), (2010), 567–575.
- [13] Z. Nehari, *Conformal Mapping*, McGraw Hill Book Comp., New York, 1952 (Dover. Publ. Inc., Dover, 1975).
- [14] Adriana Oprea and Daniel Breaz, Univalence conditions for a general integral operator, *An. St. Univ. Ovidius Constanta*, **23**(1), (2015), 213–224.
- [15] G.I. Oros, G. Oros and D. Breaz, Sufficient conditions for univalence of an integral operator, *J. Ineq. Appl.*, 2008, Article ID 127645, 7 pages.
- [16] S. Ozaki and M. Nunokawa, The Schwarzian derivative and univalent functions, *Proc. Amer. Math. Soc.*, **33**(2), (1972), 392–394.
- [17] N. Pascu, On a univalence criterion, II, *Itinerant Seminar on Functional Equations, Approximation and Convexity (Cluj-Napoca, 1985)*, Preprint, 85, Universitatea “Babes-Bolyai”, Cluj-Napoca, 153–154, 1985.
- [18] J.K. Prajapat, Certain geometric properties of normalized Bessel functions, *Appl. Math. Lett.*, **24** (2011), 2133–2139.
- [19] D. Raducanu, I. Radomir, M. E. Gageonea and N. R. Pascu, A Generalization of Ozaki–Nunokawa’s Univalence Criterion, *J. Inequal. Pure Appl. Math.*, **5**(4), (2004), Art. 95.
- [20] N. Seenivasagan and D. Breaz, Certain sufficient conditions for univalence, *Gen. Math.*, **15**(4), (2007), 7–15.
- [21] C.Selvaraj and K.R. Karthikeyan, Sufficient conditions for univalence of a general integral operator, *Acta Univ. Apu.*, **17** (2009), 87–94.
- [22] H. Silverman, Convex and starlike criteria, *Int. J. Math. Sci.*, **22**, (1999), 75–79.
- [23] Zahid Shareef, Saqib Hussain and Maslina Darus, Convolution operators in the Geometric Function Theory, *J. Inequal. Appl.*, **2012**, 2012:213
- [24] Poonam sharma, Aditya Bajpai, The convolution of analytic functions involving a parameter, *Analele Univers. Oradea Fasc. Matematica*, **23**(1), (2016), 87–95.

- [25] Poonam sharma, Aditya Bajpai, On some analytic functions associated with the linear operators satisfying certain recurring relations, *Asian-Eur. J. Math.*, **9**(2), (2016), 13 pages.
- [26] V. Pescar, New univalence criteria for some integral operators, *Stud. Univ. Babeş-Bolyai Math.*, **59**(1), (2009), 167–176.
- [27] V. Pescar, A new generalization of Ahlfors's and Becker's criterion of univalence, *Bull. Malaysian Math. Soc. (Second Series)*, **19** (1996), 53–54.
- [28] V. Pescar, On the univalence of two integral operators, *J. Indian Acad. Math.*, **27** (2005), 239–243.